[ Efficiency vs vertpos |
-~ 0.5

1072 10t 1 10 02
TP vertr (cr%)

[—— DQW_orignal_stepZ_Tibar-phaseI-Newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
Efficiend —— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom
D

OM_pixel CPETemplateCutChiSquareNew2_step2_ttbar-phasel-newgeom
0.8

e S e

e S s e

efficiency vs vert z

S St S B
.
X S s s e o

: S s S

I R TR TV LT S
% ]_:— ------- . -v:t S R T
e F
0.9F-------t-- A tHA A E
°%35 =0 -10 0 10 20 30

[ Efficiency vs. sim PV z |
~ 05
> E E E E E

0-0.45F -+ preyees priyeees AR

IS é : : : : :
( QA it
e T B S SR
> E : : : : :
c 0.3 R e P e Preenees
o TF : : : : :
o E : : : : :
£0.25------ (SRR R . Y preee
© E : : : : :
O] SR S LRI SLLELLE SRS SRR
O RSt S T S

S T R S
0.05 : ' ; ' :

e 0

5 et e R

[ 3 : : : :
0.0f--oo-beee e R EL L
By =5 =10 -5 0 5 10

Sim. PV z (cm)



	Contents
	Page 1


